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Points to Ponder
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The N1NA says that it's NO'WD that she becomes N1INJY 5109, and Rashi says that
it's because she is a NIT. Since she got married because she assumed that her first
husband died, why is she considered a N1T? Shouldn’t this be considered D1IN?

With regards to |2217 NNINN which the R1NA says she can't eat, "W says that only
[222T NNINN is a WIT'N whilst NNMINT NNINN is obviously 110K. Since she can't eat
IWYN due to the DI she for sure can't eat NNINN. If she is considered a NIt
wouldn't she be barred from NnNINN even without a D1P?

The NNA discusses whether the husband get her N'T' NWYNI NN'XN or not. Why
do we need a special D1 for these benefits? Aren't they part of the overall N1pn of
benefits which 9"TN established for a regular marriage but took away in this case to
encourage them to separate?

When a lady has 2 witnesses and gets married based on their testimony and her
husband returns she doesn’t need a LA from the second husband. Is her needing a
VA from the second husband dependent on her being allowed to return to the first
husband?



5. The RNA brings several cases where we may claim that she should have been
more careful, before remarrying. Why is that relevant to a lady who relied on 2
witnesses? We had earlier explained that the reason for the D1 in the first place
was “NNY'NN2 ﬂ')pﬂ NDID2 NNINNNW XININ DIWN “. So the reason Why one
witness is believed is because of this motivating XnIN, but when we have 2

withesses there is no NNIN?

If you have any comments or suggestions please email me at
Ygrunhaus@gmail.com
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